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For 1 - 4, Use the diagram and word bank to answer the following questions:
Word Bank: altitude, angle bisector, median, perpendicular bisector

1) LNis a(n) _i_ bI.SCoTDr
2) Misam)_median

3) HKisa(n) %< bisector
» Heisam) Alhtude

For 5 - 9, use the diagram to the right to answer the following questions.

5) Point W is called the (ZQHHQWI , because it is

formed by the med ians of a triangle.

If VX = 204 and RW = 104, find the following lengths:

6) VW= |?>!Q g 67’ 7 v
8) RY = |5l!)

9 wy= P2 ZoL,L/ v

For 10-13, use the diagram to the right to answer the following questions

10) Point Z is called the CCV\’\'YD\A , because it is

2‘%
formed by the N\PO? |ANS  ofatrian L,Ln .
A
1mpz=_ 2 ’:t %
12)n= ¢ .o ? g az= 4(\8. @-Zlo 2 17 Y R
Qz=48 s
13)QY = TL é?m*l'l‘ 6%,
2n=3%71 S0 2Y=24 and QY=48+24=F2_
For 14, use the diagram to the right to answerst?h'e question below. £
. A2+ TD
14)Given: ADEF , with altitude EG 7

Z/EGD = x?+2x+75, ED=7x ED=7(3>
Find: the length of ED

C+2x+ 15 =0 e,
;47‘+Z)<-—|67’D
(x+B) (x-3)=D
XKD =2




Write About It

15) Describe the similarity and differences between an altitude and a perpendicular bisector.

_Similanty Differenc

c Form e 55 Ll bs also =S opp s\de (N 2= SEaS
Wi opp: Sicte *Atitude dpes NoT have 70

16) When is the altitude of a triangle the same as the perpendicular bisector of a triangle? Justify your answer
in words and with a drawing.

The althhude of a Ais+he same gs o L bisecor when

+ COSL " Inan 1sDs Auwben  eCage 2% dramwn From ar;‘j
e

drawn from the verttx 0 any St
vertey 1o +he kase f: , ﬁ N an eqmiawal A




